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oo = L, G0 =0
Klammern
Name: Datum: Ergebnis:
1 3. 2
-+ (=+2)= 4411 - ) x = =
(6 ( 2) 5

(80 + 8 — =) x

N —
(S 1\

2 1
63(5+=)+7=
(3 +5)

2 1
10+5+ )% = =
( 32

=
N W
N’

X
N —
I
N —
I

I 1
B(z+=-)+1l =
G+

(S 1\

~~

W] W
I

(S 1\
N

X

N —

www.snowmath.com



https://www.snowmath.com

vier Briiche, Reihenfolge der Operationen mit

! : Klammern
Name Datum: Ergebnis:
1 31 1 23 32
—t=-(=*+=)=— HM-11-=)x==1
53% 73 10 2073
2 1 511 2 1 6 1
Mo+ 2)+3= =5 0+5+2)yx =2 =12
5+5) 731571 (10=5+5)x5=5713
1 31 1. 9 1 3 1 1 9 1
57367375 (77357375 =Clg)
1 2 19 4 11 3
B A b iy =2=1s
B0+8=3)x 5= 5 =33 3379 272
2 1 21 1 3 2 2 1 29
63(3+3)77= 5 =103 573737375
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